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1. INE1EFEERBF 300m

B K % B (B241) 24 s B =
1 2 &K NFENER 1 0:43.86

2. INE1ESELF 300m

B iz K 4 B (B5) 245 i 8% g &

1 BH Hh HHER/NERR 1 0:50.40

3. IMNEBFELEFF 100m

B K % R (B241) 24 25 B =
1 EBiR # INFEIINEE AR 3 0:16.85
2 EME s R/ 3 0:18.39
3 M EF HER/NEEAR 3 0:31.31
IR TE R /N 3 DNS
4. INEIFEHELZF 100m
B K % R (B241) 24 25 B =
1 R #kE  #HEB/NER 3 0:20.47
2 ML FA R/ 3 0:27.20
5. INF2FEHEBF 100m
B K % R (B241) 24 25 B =
1 ERE & L DRINER 2 0:20.14
2 g RIE H RN 2 0:25.37
7. 1RBF 100m
B K % R (B241) 24 25 B =
1 EF {Zm ERHFHE =3 1:09.43
2 ERER #HERREE FRK 1:13.75
8. #i!R&LF 100m
B K % R (B241) 24 25 B =
1t BE SHREER FE 0:20.18

2 [FH EH YaJHh#E T 0:37.63



9. IMNE1EHEBF 100m

B K % B (B241) 24 s B =
1 2 =K NFEINER 1 0:16.11 CR
2 Wi BR R/ 1 0:29.34

10. IME1EELZF 100m

B K % B (B241) 24 s B =
1 BH Hh HHER/NERR 1 0:17.53 CR

12. INF6EELF 500m

B K % B (B241) 24 s B =
1 wmE K R /AR 6 1:24.85

13. IMNESEERF 500m

B K % B (B241) 24 s B =
1 F=H EN RN A 5 1:08.98

14. INESEELF 500m

B K % B (B241) 24 s B =
1 [HF ¥FHN R/ 5 1:09.63
2 H EH INFE NN R 5 1:29.36

15. INRPASEKXERF 500m

B K & B (B241) 24 s B =
1 E B& HHER/NERR 4 1:07.99
2 BH 4 R/ 4 1:08.15

16. INFAFEHELF 500m

B K % B (B241) 24 s B =
1 B AKX NFEINER 4 0:52.62 CR
2 el E RTINS 4 1:05.53
3 EE BHBEF JFEDNER 4 1:12.82
4 ZR OFE L DREINER 4 1:33.55

17. INESEHERF 500m

B K % B (B241) 24 s B =
1 =BiR # INFEJIINEE RS 3 1:26.42
2 EME s R/ 3 1:28.88



19. INE2FEHBF 500m

B K % B (B241) 24 s B =
1 ERE & L DRINER 2 1:32.52
2 LiE fIE H R/ 2 1:47.05

21. hE&EBF 500m

B K % B (B241) 24 s B =
1 M fnrE fif] & P8 R A 2 0:44.27
2 /O BE ] & IR B A 1 0:44.59

30. —fl8 BF60~695 500m

B K % B (241) 25 B =
1 Dt ER —fi% 1:01.91 CR

32. —fl8&F 500m

B K % B (241) 25 B =
1 L &/FF —fi% 2:39.34

34. IMNESFEHELF 1000m

B K % B (B241) 24 s B =
1 [HF ¥ R/ 5 2:30.61

35. INEAFEELZF 1000m

B K % B (B241) 24 s B =
1 B AKX NFENER 4 1:50.92 CR
2 el E RTINS 4 2:22 53
3 EE BHBF JFEDER 4 2:33.60
4 ZR OFE L DREINER 4 3:17.91

39. INESEHEBEF 1500m

B K % B (B241) 24 s B =
1 F=H EN RN A 5 3:57.76

40. INPAEHXEFRF 1500m

B K % B (B241) 24 s B =
1 BH # R /AR 4 3:45.92
2 B BE R/ 4 3:54.91



44, hEEHF 3000m

B4z K £ B (B5)) e s B =
1 M fnrE fif] & P8 R A 1 4:51.62
2 /O BE ] & BB R AR 2 5:33.10
INBEESE 2000mJL—
JIE4:L F—Ls K 4 0 &% .
B L X4 HE 6:20.84 BLREE
R O 2 RBiK OoP
INREFREF 2000mlJL—
JIE43L F—Ls K 4 2 8% iﬁﬁ
B EE BY # 50106 IE-SFEES
=R # FH EN OoP
INREESRELF 2000m!)L—
JIE43L F—Ls K 4 0 &% g &
1 Ef E¥% =iZ BABE 4:31.90
mH FH 2 hK
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